VAO1
24

VA0S
24

VAO1
23

VA01
33/34

MPV3

MPV4

oo
o0oo

ooo
oo

MPS
MVS
oooo
fooooon
oo
ooa

ooooo
ooo

oooo
oo

J0og

P3N

ooooo

HP10

gooo

000000

Joogooog

2/ AE %

BEANEBRLETRME BALEY—7

HRIFT DI Fo—TEAREE
ay2ry HEHSF VT
Fa—THEEEIIM

UCHEAGAT
K54
HEMMPBTHIAES
EERALBER
A1,
UL-943%4& V-0
Ny—=xyry

ayo)2iimha

AFEFIRLF2—7 RBLEBE -

e M5 L8B4 R4y M
% BOHIZEIR.
[N ad
0 0 0 0o
DO0D0DO000 00,10 1MPa 00.1007MPa D @

[}
[}
[}

050 600 @}(—v/ﬁ
yaml

000D0O0OQ0 (000000000 |0000ooo0ooo |

0oo0DO0DOoao 00oo0o0oOMS00000000 [2X0)
0050000000000000000000000000000 @
0000000000000000000000000000 &
ooo
oooao
oo oooo oooo
® |Doooooo oooo
@ |ooo oooo

@
@

Q u oooooa gooooo

®

S

®,

.
)

&R

4

&

4 0oooooo oooooo
8 ® |00o 0ooo
s ® |Doooooo ooo

0oooooOoO0ONDOOODODODOOOOODOO

&

276



VAO1

24
VA0S
o0 | A
Oooooaoo 0o 0oo 00000000 mmd 0oooooo 0o oo 00000000 mm0 VAQT
94[06[08p 1012 9o4[e6[o8e 1012 23
1
0oooooooo M E(j Z Z ig Z . 5/?/‘\/(3)1‘
g ooooon RC
R4 o | o ¢ 10 o |o |o
ooooooo0on ML R, TS 012 P e VPV
M5 o |o 04 )
Rl/g o o |o |o ®6 o MPV4
ooooooo M RV, oo oo o oooooo LCc 98 o
R4 o |o |o |o ¢ 10 o
RV o |o @12 o
RCVB o o o 04 o
Rcl4 o |o |o |o |o 06 o
boobooooo F R4 o lo |o |o ooooooo TC 08 °
RcV% o |o 910 °
M5 o | o @12 o
R% o o o o M5 o o
0ooooo ML RV, o o |o oo R4 o lo o |o
R o ]lo |o |o 0oo0o0o0ooooo S1 R, oo |o oo
RV o |o R4 o |o |o |o
RVB o |o |o RVZ o |o
RV, o |o o |o |o M5 o |o
0oDOooo0oo M2L R, P B RV N e e
R, o |o ooooooooo D1 RV, o ]lo o oo
M5 o |o R4 o |o |o |o
R% o o o o R% o o
00oooooooo | MT R, oo |o|o o M5 o
R% o |o |o |o R4 o |o |o
R, o |o goooooooo S2 R, oo |o
M5 o |o R3/8 o |o |o
R% o o o o R% o
00oooooo RT RV, oo o ]o |o M5 .
R4 o |o |o |o RV o |o | o
RV, o |o 0ooooo0oon S1D1 RV, o |o |o
ooog U [Eas] o lo]o o |o R4 o o | o
00ooooo UL [Eas] o lo o |o |o RV, .
ogoooog uT oo o |o |o o |o M5 o
0000000000 | BU [EaE] o o ]o]o o R4 o |o |o
R | o 00o0o0o0oo D2 RV o |o |o
oooooooo FB RcV, o |o R4 o |o |o
Rc3/3 o | o RV, o
M5 o |o R4 o |o
R% o |o |o |o R% o |o |o
ooo0oO0oooooD MY R, o o o |o |o poopoooon s3 R o o |o
Ra/g o o o o R% o
RVZ o |o RVB o |o | o
ooooog uy [mus] o lo]o o |o noooooooo S201 R;A o o | o
94 o R4 o |o | o Bl
©6 o) RV .
0o0oooooo uy ]
98 ) R4 o |o | PIN
@10 ) RV, o |o |
0d S ooooooooo S1D2 RY, P B s
96 ° RV, . 00000
oooooo Y 08 o R4 o |o |o
@10 o RV, o |o |o
012 S ooooooooo D3 Y P I HP10
RV, °
gooo

O00O0DeDOOO

277




VAO1
24

VA0S
24

VAO1
23

VA01
33/34

MPV3

MPV4

oo
o0oo

ooo
oo

MPS
MVS

ooo

ooooo
ooo

Joogooog

gbooooooogooMm

ooooooooggr

oooo oo oo
oooo A L
gooo gooo 00D OgO
FR6-01M | FR6-01MW 213 17.3 3.1
FrRe-0zM | FRe-oomw | 6 24.8 18.8 4.3
FR8-01M | FR8-01MW 8 23.8 19.8 45
FR8-02M | FR8-02MW ¢ 25.3 19.3 5.4
0oooo oo ooo oo
oooo A L
gooo oooo 00D 0gO
FR6-01ML |FR6-01MLW . 15.5 3.4
FRe-02ML |FRe-02mLw| @ ° 158 93 | 14 |17 | 46
FR8-01ML |FR8-01MLW 20.5 12 16.5 4.8
Fre-ozvL |Fra-ozmiw| @8 178 | 14 |18 | 56
oooo oo oo
oooo A L
0ooog ooog oobD OgO
F4-M5M F4-M5MW 16.3 12.3 4.1
F4-01M F4-01MW ¢ 4 19.3 15.3 6.4
F4-02M F4-02MW 22.3 16.3 14.3
F6-M5M F6-M5MW 17.5 14.5 6.3
F6-01M F6-01MW 19.3 15.3 7.6
F6-02M F6-02MW ® 6 22.3 16.3 16
F6-03M F6-03MW 24.3 17.9 25.5
F8-01M F8-01MW 23.2 19.2 11.9
F8-02M F8-02MW ¢ 8 22.3 16.3 11.6
F8-03M F8-03MW 24.3 17.9 23.7
F10-01M F10-01MW 23.8 19.8 18.6
F10-02M | F10-02MW 25.6 19.6 19.4
Fio0aM | Fiooamw | @ 1° 24.3 17.9 206
F10-04M | F10-04MW 28.3 203 46.1
F12-02m F12-02MW 27.4 214 235
F12-03m F12-03MW | ¢ 12 26.3 19.9 26.4
F12-04M F12-04MW 29.3 21.3 38.8
oooo oo ooo oo
oooo A
0000 | oooo | ooo H 0g0
F4-01F F4-01FW 213 11 12 9.2
F4-02F F4-02FW e 4 243 12. 17 18.4
F6-01F F6-01FW 21.8 1 12 9.8
F6-02F F6-02FW ¢ 6 24.8 13 17 19.8
F6-03F F6-03FW 25.8 135 21 27.3
F8-01F F8-01FW 22.8 115 14 14.5
F8-02F F8-02FW ¢ 8 25.8 135 17 211
F8-03F F8-03FW 26.8 14 21 29.4
F10-02F F10-02FW 26.8 14 17 24.3
F10-03F F10-03FW | @ 10 27.8 14.5 21 334
F10-04F F10-04FW 30.8 16.5 24 38.7
F12-02F | F12-02FW 27.8 14.5 21 42.3
F12-03F | F12-03FW | @ 12 28.8 15.5 21 36.6
F12-04F | F12-04FW 31.8 17 24 42.9




ooooooOgML

A

£

O0o00o0oooooM2e

I ‘[)
$D

T

@D

VAO1

#C

24
VA0S
24
oooo 00 _|oooodo ooo oo VA0
0000 | 0000 | oob T AlBC H L loeo 23
F4-M5ML | F4-M5MLW M5x 0.8 19 16 6.4 VAO!
F4-0IML  [F4-01MLW | @ 4 [ RV |148[225] 10 4 [185 ] 98 33/34
F4-02ML | F4-02MLW RV 265 205 | 18.8
F6-M5ML | F6-M5MLW M5x 0.8 20 17 75 MPV3
F6-0IML | F6-01MLW RV 24.5 205 [ 112 |
ool [reoomw | @ 6 [ R 4 158 575 12 & 215 [ 196 MPV4
F6-03ML | F6-03MLW R% 295 23.1 [ 306
F8-0IML | F8-01MLW RV 265 225 | 14 0o
F8-02ML [F8-02MLW | ¢ 8 [ Rl |178[295]| 14 8 [ 235 | 185 oo
F8-03ML | F8-03MLW RY% 315 251 [ 329
F10-01ML | F10-01MLW RVs 295 255 | 202 (000
F10-02ML | F10-02MLW R4 32.5 265 | 24.3 oo
Fro-osm [Fooamw] @10 TR 18 ms| V| 0 [ (31
F10-04ML | F10-04MLW R, 36.5 285 | 57.9
F12-02ML | F12-02MLW RV 35 29 28.3
F12-03ML [F12-03MLW | ¢ 12 [ R% |223[36 | 20 | 12 | 296 | 335
F12-04ML_| F12-04MLW R, 39 31 54.4
oooo DEE: ooooo A B c ooo L oo 10000
oooo oooo 00D T H 0gOd oooo
F4-01M2L  |F4-01M2LW 0 4 A 108 1345 1o |10 [ 305 | 172
F4-02M2L _|F4-02M2LW RV, 1375 14 | 315 | 348
F6-01M2L _|F6-01M2LW 6 RV 158|385 1, [ 12 | 345 | 235
Fe-02M2L_|Fe-o2maLw | ¢ RV, C 415 14 | 355 | 373
F8-01M2L  |F8-01M2LW RV 425 14 | 385 | 316
F8-02M2L |F8-02M2LW | @ 8 | R4 | 17.8[455] 14 | 14 | 395 | 365
F8-03M2L |F8-03M2LW R% 465 17 | 401 | 595
F10-02M2L [F10-02M2LW RV, 51.5 17 | 455 | 543 ———
F10-03M2L [F10-03M2LW| ¢ 10 | R | 19.8[525] 17 | 17 | 461 | 613
F10-04M2L [F10-04M2LW R, 555 21 | 475 [106.3
F12-02M2L [F12-02M2LW| R 57 21 | 51 84.4
F12-03M2L [F12-03M2LW| @ 12 | R35 | 223[58 | 20 | 21 | 516 | 89.8
F12-04M2L |F12-04M2LW R, 61 21 53 1055 [
oooo DBB: ooooo A B c ooog L oo
oooo oooo 00D T H O0gOd
F4-M5MT | F4-M5MTW M5x 0.8 19 10 | 16 7.2
F4-01MT _[F4-0IMTW | @ 4 | Rl |148]225| 10 | 10 | 185 | 10.6
F4-02MT  |F4-02MTW RV 265 14 | 205 | 196 [
F6-M5MT _|F6-M5MTW M5x 0.8 20 12 |17 8.4
F6-01IMT _ [F6-01MTW RV 245 12 | 205 | 121
oot |Feoomtw | @ 8 [ R 4 158 9751 2 14 | 215 | 205
F6-03MT  |F6-03MTW RY% 295 17 | 231 318
F8-0IMT |F8-01MTW R4 26.5 14 | 225 [ 152
F8-02MT |F8-02MTW | @ 8| RV |178[295| 14 | 14 | 235 | 197 oo
F8-03MT |F8-03MTW RY% 315 17 [ 251 [ 341 —
F10-01MT_|[F10-01MTW RV 295 17 | 255 | 213 P3N
F10-02MT _|F10-02MTW R4 325 17 | 265 | 246
010 < 19.8 == 17
F10-03MT_|F10-03MTW RY% 335 17 | 271 | 307
F10-04MT_|F10-04MTW A 365 21 | 285 | 56.4 RUIEE
F12-02MT_|F12-02MTW RV, 35 21 |29 292 [
F12-03MT |F12-03MTW| @12 [ R% 22336 | 20 | 21 | 296 | 336 HP10
F12-04MT_|F12-04MTW R, 39 21 | 31 535 ———
oooo

279




VAO1
24

VA0S
24

VAO1
23

VA01
33/34

MPV3

MPV4

oo
o0oo

ooo
oo

MPS
MVS

ooo

ooooo
ooo

Joogooog

ooooobooobogRrT

e

A

@D

#C

oooooooood

a
Ay

15}
=y

i

ooooou

[=)
Y

280

oooo oo ooooo ooo oo
ooog oooo Du’uDDD T A B ¢ H L 0gO
F4-MSRT | F4-MSRTW M5x 0.8 19 10 | 16 7.2
F4-0IRT |F40IRTW | ¢ 4| Rl |148[225| 10 | 10 [ 185 | 106
F4-02RT | F4-02RTW RV, 26.5 14 | 205 | 196
F6-M5RT | F6-M5RTW M5x 0.8 20 12 |17 8.4
F6-01RT | F6-01IRTW 6 RV% 158 2451 4, 12 ] 205 [ 121
F6-02RT | F6-02RTW | © RV, “ 1275 14 | 215 | 205
F6-03RT | F6-03RTW RY% 295 17 | 231 | 318
F8-0IRT | F8-01RTW RV% 26.5 14 | 225 | 152
F8-02RT |F8-02RTW | ¢ 8| RVG [178[295| 14 | 14 [ 235 [ 197
F8-03RT | F8-03RTW RY% 315 17 | 251 | 341
F10-01RT |F10-01RTW R4 29.5 17 [ 255 [ 213
F10-02RT | F10-02RTW RV, 325 17 | 265 | 24.6
Fio0srT [Fioosrrw] @0 TR, 1198 (35| VY [7 [ 27 | 307
F10-04RT | F10-04RTW RV, 36.5 21 | 285 | 564
F12-02RT | F12-02RTW RV, 35 21 [ 29 | 292
F12-03RT |F12-03RTW| @12 | R% [223(36 | 20 | 21 [ 296 | 336
F12-04RT | F12-04RTW RV, 39 21 | 3 535

oooo oo ooooo ooo oo
gooo gooo DD’DDDD T A B ¢ H L P O0gO
F4-M5MY |F4-MEMYW M5x 0.8 |35.8] 10 [ 323 6.6
F4-0IMY [F4-0IMYW | @ 4| Rl)g [20.8[39.3]| 10 | 10 [353]108| 9.7
F4-02MY _ |F4-02MYW RV, 433 14 [37.3 19.5
F6-M5MY | F6-M5MYW M5x 0.8 |38.4] 12 [ 349 9.1
F6-01IMY  [F6-01MYW 6 RV% 05 [429] , [ 12 (389 . [122
F6-02MY_ |Feoamyw | @ RV, (459 14 [39.9 19.8
F6-03MY |F6-03MYW RY% 479 17 [415 33
F8-0IMY [F8-01MYW RVg [46.4] 14 [ 424 15.9
F8-02MY [F8-02MYW | @ 8 | RV |29 [49.4) 14 [ 14 [434]15 [198
F8-03MY |F8-03MYW RY% 51.4 17 [ 45 325
F10-01MY |[F10-01MYW RV |52.7 | 17 [ 487 25.4
F10-02MY |F10-02MYW 010 RV, 35 1B7] 4, |17 [497] . [285
F10-03MY | F10-03MYW RY 156.7 | 17 1503 345
F10-04MY |F10-04MYW RV, 59.7 21 517 57
F12-02MY |F12-02MYW RV, [59.3] 21 | 533 39.4
F12-03MY [F12-03MYW | @12 | R34 |41 [60.3]| 20 | 21 |539 |12 |[438
F12-04MY _|F12-04MYW RV, 63.3 21 | 553 58

oooo D;ED ooooo A B C (000 |00
0ooog ooog [afs]>) Tl T2 max.|H1|H2[0 g0
F4-01FB |F4-01FBW | @ 4 | Rcls | M12x 1 [29.8] 85 1414|213
F6-02FB | F6-02FBW | @ 6 | Rcls | M14x 1 [343]13 17]17] 337
F8-02FB | F8-02FBW | ¢ 8 | Rcl4 | Mi16x 1 [33.8|125] 10 [19]19] 42.3
F10-03FB | F10-03FBW | @ 10 | Rc¥p | M20x 1 [34.3]13 2424|656
F12-03FB | F12-03FBW | @ 12 | Rcp | M22x 1 [34.3]12 24]24]67.8

oooo oo oo

0ooo A C
0ooog ooog oob OgO
FR4-00U | FR4-00UW | ¢ 4 26.4 10 1.9
FR6-00U | FR6-00UW | ¢ 6 28.4 12 24
FR8-00U | FR8-00UW [ ¢ 8 31.2 14 3.4
FR10-00U | FR10-00UW| ¢ 10 33.8 17 5.3
FR12-00U | FR12-00UW][ @ 12 35 20 7.5




VAO1
24
VA0S
24
DO0000000000BU nooo 0880(09009 ) 4 | € ] Boo jpo vl
0000 | 0000 | ooo T max. H 0go 3
F4-00BU |F4-00BUW | @ 4 | Mi2x1 | 326 14 204 VAl
F6-00BU | F6-00BUW | @ 6 | Midx1 | 326 17 28.8 33/34
F8-00BU |F8-00BUW | ¢ 8 | Mi6x1 | 326 10 19 308
F10-00BU | F10-00BUW | ¢ 10 | M20x 1 | 326 24 475 MPV3
F12-00BU_| F12-00BUW | @ 12 | M22x 1 | 346 24 53.8 7
MPV4
0o
goo
— poo
oooo oo N c oo il
oooo gooo 00D O0gO
FR4-00UL | FRA-00ULW | ¢ 4 14.8 10 2.1 MPS
FR6-00UL | FR6-00ULW | ¢ 6 15.8 12 2.2
LI, FR8-00UL | FR8-00ULW | ¢ 8 17.8 14 32
© FR10-00UL | FR10-00ULW| ¢ 10 19.3 17 53
L o FRI12-00UL | FR12-00ULW | ¢ 12 21.8 20 6.6 0o
_ <
{é =
= 0o00o
oooo
0000O0o0oourt oooo 0ooo A c oo —
oooog oooo 00D Ogd
FR4-00UT | FRA-00UTW | @ 4 14.8 10 2.9
FR6-00UT | FR6-00UTW | ¢ 6 15.8 12 3.1 —
A A s FR8-00UT_| FRE-00UTW | ¢ 8 17.8 14 44
[ s FRI10-00UT | FR10-00UTW| ¢ 10 193 17 6.9 —
. o FRI2-00UT | FR12-00UTW| ¢ 12 218 20 8.8
=3
<L
=
Ooooooouy nooo 0abo| A B b P oo
oooo gooo 00D O0g0O
FR4-00UY |FRA-00UYW | @ 4 | 208 316 10 1038 31
alg FR6-00UY |FR6-00UYW | ¢ 6 | 25 342 12 13 44
2 ®, FR8-00UY |FR8-00UYW | @ 8 | 29 377 14 15 6.2
Y FRI10-00UY |FR10-00UYW| ¢ 10 | 35 43 17 18 10.8
3 AN < FRI2-000Y |FRIZ00UYW| @ 12 | 41 466 20 21 164
— EEEEE
B 3|8 —
Joooo
DDDDDDDDDUY oooo oooooooo 0000 00mmQd OO000mMmmi OO P3N
A B C D E F G |0000 0000 |0 go
0000»00000000C36048D AR6UY | 4|0 6| 417 22 | 55 | 11 | @13 | 55| 7.0 165
6R8UY | 6| ¢ 8| 478 | 26 | 65 | 13 | 915 105 | 130 | 260  |C00OC
8RI0UY | @ 8| 010|523 | 30 | 75 | 15 | @17 | 220 | 250 | 335
10R-12UY | 910 | @12 | 547 | 35 | 85 | 18 | ¢ 19| 33.0 | 380 | 430 |HP10
0ooo



VAO1
24

VA0S
24

VAO1
23

VA01
33/34

MPV3

MPV4

oo
o0oo

ooo
oo

MPS
MVS

ooo

ooooo
ooo

Joogooog

oo A B C D E F G H |0000|0000Q gO

0000 »00000000C36048D 4RO00Y @ 4|49 | 22 | 55| 11 |29 |20 |155|@ 4| 32| 33|15
6R-00Y | 6]523] 26 | 65| 13 |31.3]|21 |168|¢ 6] 9.4 11.0 160

8R00Y | 8|575] 30 | 75| 15 |355 |22 |17.9 ¢ 8] 20.0 | 23.0 | 23.0

10R-00Y_ | 10585 35 | 85| 18 |36.3]225]18.3 |¢ 10| 32.0 | 36.0 | 315

12R-00Y | 12]634 40 |10 | 20 |39.4]24 |19.9 |¢ 12] 45.0 | 500 | 425

DDDDDDRC oooo :’_‘:S‘D 0000 00mm-d pooommm@| OO
oo A B C D E F 0000|0000 |0 gO

0000 P C36048D 46RC | 4] 34 |21 | 13 6 | 11 | 3 | 32| 50 95

48RC_ | 4] 329 |22 | 109 | 8 | 11 | 3 | 32| 50 120

" 410RC_ | 4] 309 | 225 | 84 | 10 | 11 | 3 | 32| 50 160

I= . 6-8RC_ |@ 6| 355 | 21.8 | 137 | 8 | 13 5 85 | 9.0 | 130

i 610RC |p 6] 362 | 225 | 137 | 10 | 13 | 5 | 85| 90 | 180

‘ ‘| 612RC_ | 6] 342 | 24 | 102 | 12 | 13 | 5 | 85| 90 | 225

B | ¢ 810RC | 8] 37 | 225 | 145 | 10 | 15 | 6 | 18.0 | 27.0 | 185

AT 4‘} 812RC_ |o 8| 385 | 24 | 145 | 12 | 15 6 | 180 | 27.0 | 265

- 10-12RC_ |9 10] 393 | 24 | 153 | 12 | 17 | 9 | 300 | 420 | 215

5o | A[BJ[C[DJE]F ]G] H |o0000ooopego

0000»00000000C3604BD 4RO0LC |@ 4]237|17.7]39 |335| 11 |20 |155| 4 | 32| 33| 85
A 6R-00LC | 6]265|195]42 |355| 13 |21 |168| 6 | 85| 90120

8R-00LC | 8301 |21.7|455]38 | 15 |22 |17.9] 8 | 150 | 20.0 | 1655

10R-00LC | 10 32.5 | 23.5 |48 | 39.5| 17 | 225]18.3| 10 | 27.0 | 35.0 | 225

12R-00LC | ¢ 12] 36.1 | 25.6 | 52.5 | 42.5| 20 |24 |19.9] 12 | 39.0 | 45.0 | 325

to| A[BJ]C[DJ|EJ]F ]G] H |ooo0oooopego

0000»00000000C3604BD 4R00TC |@ 4]36.4|17.7]39 |335] 11 |20 |155| 4 | 32| 33]11.0
6R-00TC | 6|40 |195|42 |355] 13 |21 |168| 6 | 95| 11.5] 145

8R-00TC | 8|452|21.7|455]38 | 15 |22 |17.9] 8 | 225 | 255|215

10R-00TC | 10|48 | 23.5|48 |395| 17 | 225]18.3| 10 | 36.0 | 39.0 | 265

12R-00TC | ¢ 12| 52.2| 25.6 | 52.5 | 425 20 |24 |19.9] 12 | 50.0 | 55.0 | 40.0




ooo

VAO1

(g
(AW

ooo

H($D)
_nLs

ooao

24
VA0S
24
Oooooo0ooooost 0ooo oo 0o 000000mmd 1000mmt]0 O VA0
oo AlB[c[D]E]F]G][H |[pmpmggo 23
0»00000000C36048D ARM5ST [@ 4| M5x 08 [26 |205| 11 [20.8] 0 |14 | 55/ 10| 29] 30[ 95 | ypq
4R-01S1 |@ 4] RV |26 [205] 11 [24.8[4 [18 | 55] 10 ] 3.1 40[120 |33/34
4R-02S1 | 4| RV, |26 [205] 11 [27.8[6 [21 | 55[ 14 ] 3.1] 4.0[185
A 6R-M5S1 [@ 6] M5x 0.8 [28.7[22.2| 13 [228| O [15 | 65| 12| 3.2] 33]140 |MPV3
. 5 6R-01S1 | 6] Rls [287]222[ 13 |26.8/4 [19 [ 65/ 12] 72| 75[160 |
ﬂi 6R-0251 [@ 6] R)G [287[22.2[ 13 (2986 [22 | 6514 [ 7.2 75220 |yovs
I | 6R-03S1 |@ 6] R% [28.7]22.2] 13 |30.8]6.4 [23 | 6.5] 17 | 7.2] 7.5[29.5
] 1 8R0IST |@ 8] RV [326[251[ 15 [28.9[4 [20 | 755[ 14 [10.0[105[225 |[q
i* #C 8R02S1 [@ 8] RV, [326]25.1] 15 [31.9[6 |23 | 7.5] 14 [10.0[11.0[265 |
| 8R-03S1 |@ 8] R% [326|25.1] 15 [32.9]6.4 [24 | 7.5 17 [10.0]11.0[345
1] T0R-01S1 |9 10| RV  |36.1]27.1] 17 [32.1]4 |21.5] 9 | 17 [15.0/165|35.0 D]DDJ
\H@‘r‘ﬂ) 10R-02S1 [ 10 RV, [36.1]27.1] 17 [35.1] 6 [245] 9 | 17 [185]195[375
L 10R0381 [@10] R34 [36.1[27.1] 17 [36.1] 6.4 [255] 9 | 17 [1855[19.5]42.0
| 10R-04581 [@10] RV [36.1[27.1] 17 [40.1]8 [295] 9 [ 21 |205[22.0]575
12R0281 [@12] RV4  [40.1[29.6] 20 [37.1]6 [255[10.5] 19 |23.0[25.0]50.5
12R0351 [@12] R34  [40.1[29.6] 20 [38.1] 6.4 [26.5[10.5] 19 |26.0[28.0]51.0
12R-0451 [@12] RV, [40.1[29.6] 20 [42.1]8 [30.5[10.5] 21 |26.0[28.0/64.5
e]0000000D000O0DN0O0D000O0DNN0ONN0000000
DDDDDDDDDDD] oo 0O00000mmd 0000@Mme| 0 O
_ nooo HQE ooo A B I} D E E H |oooo|oooop gO 0ooo
0»00000000C3604BD 4R-M5D1 |@ 4] M5x 0.8 |41 |20.5] 11 [208] O |14 | 10 | 32| 33|15
4R01D1 |@ 4] RV |41 [205] 11 [248]4 [18 | 10| 45| 55/180
A 4R-02D1 |@ 4] RV, |41 [205] 11 [278]6 |21 | 14| 45| 55[205 |———
) 6R-M5D1 |@ 6] M5x 08 [444]222] 13 |228] 0 |15 [ 12| 32| 33[17.0
6R-01D1 |@ 6] Rl [444]222] 13 [268]4 [19 [ 12 [100[120[190 [
6R-02D1 |@ 6] RV,  [44.4|222] 13 |20.8]6 |22 | 14 [10.0[12.0[25.0
6R-03D1 |@ 6] R% [44.4|22.2] 13 |30.8] 6.4 |23 | 17 [10.0]12.0[325
8R-01D1 | 8] Rlg [50.2]25.1] 15 |28.9]4 |20 | 14 [16.5]20.0[27.0
. 8R-02D1 | 8] RlJ4  [50.2]25.1] 15 |31.9]6 |23 | 14 [16.5]20.0{30.5
8R-03D1 |@ 8] R% [50.2[25.1] 15 [32.9] 6.4 [24 [ 17 [165[200[385 ——
10R01D1 [@10] Rl [54.2[27.1] 17 [321] 4 [215] 17 |25.0]29.0]345
10R02D1 [@10] RV,  [54.2[27.1] 17 [351]6 [245] 17 [30.0]34.0]43.0
10R-03D1 [@10] R35 [54.2[27.1] 17 [36.1] 6.4 [255] 17 [30.0]34.0]47.0
10R-04D1 [@10] RV5  [54.2[27.1] 17 [401]8 [295] 21 [30.0]34.0]63.0
12R-02D1 [@ 12| RV,  [59.2]29.6] 20 [37.1] 6 [255] 19 [35.0]40.0[57.0
12R-03D1 @ 12| R  [59.2]29.6] 20 [38.1] 6.4 [26.5| 19 [35.0]40.0[57.5
12R04D1 [@12] RV [59.2]29.6] 20 [42.1]8 [305] 21 [43.0]45.0]71.0
eI 0000000D00D0ONDNO0OO0DNONO0OO0ONN0ONDN0O0D00000
DDDDDDDDDSZ oooo DLD\DJZ oo 0000 00mmd ]]]}Iﬁmm‘[DD
oo A B C D E F G H |0000|0000p g0
0»00000000C3604BD 4RM5S2 |@ 4] M5x 0.8 |41 |205] 11 323] O |14 [115] 10| 32| 3.3]155
4R01S2 [@ 4] Rl |41 [205] 11 [36.3[4 [18 [11.5[ 10 ] 55| 6.0[18.0
A 6R-01S2 [ 6] Rls  |44.4[222] 13 [403[4 [19 [135] 12 [13.0[14.0]245 +——
6R02S2 | 6| RV,  |44.4[222] 13 [433]6 [22 [13.5] 14 [13.0]14.0[30.5 |0
8R-01S2 |@ 8] RlVg  [50.2]25.1] 15 [44.4]4 [20 [15.5] 14 [19.5]21.0[355
8R-02S2 |@ 8] RV, [50.2]25.1] 15 [47.4]6 [23 [15.5] 14 [19.5]21.0[39.5 PIN
8R-0352 |@ 8] R%  [50.2]25.1] 15 |48.5] 6.4 [24 [15.5] 17 [19.5|21.047.5
10R-0252 [@10[ RV  [54.2[27.1] 17 [53.6] 6 |[24.5[18.5] 17 |30.0[35.0|57.5
10R-0352 | 10 R  [54.2|27.1] 17 |54.6] 6.4 [25.5]18.5] 17 [30.0[35.0]61.5  |00000
12R03s2 [@12] R34  [59.2[20.6] 20 [58.6] 6.4 [26.5[20.5] 19 |45.0[50.0]785 +———
12R0452 |9 12| RV,  [59.2]29.6] 20 [62.6]8 |30.5]205] 21 [45.0[50.0/93.0 | Hp10
G GEEEEEEEEEGEEEEEEEE s
0ooo

H (i)

RLE

283




VAO1
24

VA0S
24

VAO1
23

VA01
33/34

MPV3

MPV4

oo
o0oo

ooo
oo

MPS
MVS

ooo

ooooo
ooo

Joogooog

oo A B C D E F G H |0000|00000 g O
0000»O0000000C3604BD  YRuESIDT |@ 4| MSx 0.8 |26 |205| 11 |323] O |14 |115] 10 | 32| 3.3]17.5
4R-01S1D1|@ 4| RV |26 |205] 11 [36.3]4 |18 [11.5] 10 | 6.3 7.2[200
A 6R-01S1D1|@ 6] RVs [28.7]22.2] 13 [40.3[4 |19 [135] 12 [165[17.0[27.0
6R-02S1D1|@ 6] RV, |[28.7]22.2] 13 [43.3[6 |22 [13.5] 14 [165[17.0[31.0
8R-01SID1|@ 8| RV [32.6[25.1] 15 [44.4[4 [20 [155] 14 [24.0]25.0]39.0
8R-02S1D1|@ 8| RV, |32.6/25.1] 15 [47.4]6 |23 [155] 14 [24.0[25.0[435
8R-0351D1|@ 8| R |32.6/25.1| 15 (485 6.4 [24 [155] 17 [24.0/25.0[51.0
10R-02S1D1|@ 10| RV, [36.1|27.1] 17 [53.6] 6 |24.5[18.5] 17 [40.0[42.0]62.0
10R-0351D1|@ 10| R%  [36.1|27.1] 17 [54.6] 6.4 |25.5[18.5] 17 [40.0[42.0]66.5
12R-0351D1|@ 12| R%;  [40.1]29.6] 20 [58.6] 6.4 |26.5/20.5] 19 [50.0[55.0/84.5
12R-0451D1|@ 12| RV [40.1]29.6] 20 [62.6] 8 |30.5/20.5] 21 [50.0[55.0/98.5
EEEEEEEEEEEEEEEEEEEEEEEEEE G
DDDDDDDDDDZ oooo 7575\_‘ ooo 0000 00mm-O [»[[[E_Emm{DD
oo AlB]c|D|[E]F][G]H |onmomgo
0000»00000000C3604BD 4R-MSD2 |@ 4] M5x 0.8 |41 |205] 11 [32.3] O |14 |11.5] 10 | 3.2 3.3 205
4R-01D2 |@ 4| RV |41 [205] 11 [363]4 [18 [11.5] 10 | 7.0] 7.4] 225
A 6R-01D2 |@ 6| RV |44.4222[ 13 [403[4 [19 [135] 12 [18.0]19.0] 305
R s 6R-02D2 |@ 6| RV, |44.4222[ 13 [433]6 |22 [135] 14 |18.0]19.0] 365
‘[ 8R-01D2 |¢ 8 RV [50.2]25.1] 15 [44.4] 4 |20 [15.5] 14 [25.0]27.0] 44.0
8R-02D2 | 8| RV, |502[25.1] 15 [47.4]6 |23 [155] 14 |25.0|27.0] 485
I | 8R-03D2 |@ 8| R%  [50.2]25.1] 15 |48.5] 6.4 [24 [155[ 17 [25.0]27.0] 56.0
#C - K '_f 10R-02D2 |@ 10 RV, 54.2|27.1] 17 |53.6| 6 |24.518.5| 17 |42.0{44.0] 68.0
J_l, 1 P 10R-03D2 | 10| R%  |54.2[27.1] 17 |54.6] 6.4 [255[18.5] 17 |42.0]44.0] 725
| | 12R-03D2 | @ 12 R%s  |59.2|29.6] 20 [58.6 6.4 |26.5[20.5] 19 [55.0/60.0] 90.5
‘i i b 12R-04D2 [@ 12] RV, [59.2[29.6] 20 [62.6] 8 [30.5]20.5] 21 |55.0]60.01045
EEEEEEEEGEEEEEEEEEEEE = == =)
He) %——-:2 §
s SEE= £] |
]
oo A B C D E F G H |0000|0000p g0
000D »00000000C36048D 4R01S3 |@ 4] RV |26 |205] 11 [47.8]4 |18 |11.5] 10 | 7.0 7.5 235
6R-01S3 | 6] RV [28.7[222] 13 [53.8]4 |19 [135] 12 [17.0]17.5] 330
6R-0253 | 6| RV [28.722.2] 13 [56.8|6 |22 [13.5] 14 [17.0]17.5] 390
8R-01S3 | 8| RV  [32.6[25.1] 15 [59.9|4 |20 [15.5| 14 [26.5]28.0[ 49.0
8R-0253 | 8| RV,  [326[25.1] 15 [62.9|6 |23 [15.5] 14 |26.5|28.0] 525
8R-0353 | 8| RY%  [326[25.1] 15 [63.9] 6.4 |24 [155] 17 |26.5/28.0] 605
10R-0253 [@ 10| RV4  [36.1[27.1] 17 [72.1] 6 [24.5]18.5] 17 |38.0]43.0] 775
10R-0353 [@ 10| R%  [36.1[27.1] 17 [73.1] 6.4 [255[18.5] 17 |38.0]43.0] 815
12R-0353 |9 12| R%  [40.1[29.6] 20 |79.1] 6.4 [26.5]20.5| 19 |60.0/65.0[105.0
12R-0453 |9 12] RV,  [40.1]29.6] 20 [83.1] 8 [30.5]20.5] 21 |60.0/65.0[1185

284

el00D0O0O0O0O0ODODOOOOODODOODOOOOODODDDOOO



0000000O0O0O0os2D1

0000M»OD00ODOOO0OOC3604BD

H(Gi2) ///
acs

00000000 oosib2

0000M»OD0OO0OO0OOC3604BD

m
|

H (o,

_nuw S

O00o0o00oo0o0oooD3

000O0»D0O0O0O00D0O0C3604BD

>

VAO1

24
VA0S
24
00 000000mmd 0000@m]0 O VAQT
i e AlB[c[D]E]F]G]H |[pmpmigo 23
4r01s2D1[@ 4] RV |41 [205[ 11 [47.8[4 [18 [115] 10 7.2] 7.4[ 255 |\pq
6R01S2D1|@ 6] Rl  |44.422.2[ 13 [538]4 [19 [135] 12 [18.0]19.0] 355 |33/34
6R-0252D1|@ 6| RV  |44.4[22.2] 13 [56.8]6 |22 [13.5 14 [18.0[19.0] 415
8R-01S2D1|@ 8| RV  [50.2[25.1] 15 [59.9] 4 [20 [155] 14 [255[27.0[ 520 |MPV3
8R-0252D1|@ 8| RV, [50.2[25.1] 15 [62.9] 6 [23 [155] 14 [265[27.0[ 560 |
8R-0352D1]¢ 8] R%  [50.2[25.1] 15 [63.9[ 6.4 [24 [155] 17 [255[27.0] 635 |y /00
10R-0252D1| @ 10| RV, [54.2]27.1] 17 [721]6 |24.5]18.5] 17 [43.0[45.0] 815
10R-0352D1[@ 10| R%  [542[27.1[ 17 [73.1] 64 [255]185] 17 [43.0[45.0[ 860 | 3
12R-0352D1[@ 12| R%  |59.2[29.6[ 20 [79.1] 6.4 [265]20.5] 19 [65.0[60.0[110.0 |
12R-0452D1] 9 12| RV5  [59.2]29.6] 20 [83.1]8 |30.5/20.5] 21 55.0/60.0[1235
G EGEEEEEEEEEEEEEEEEEEEEEEEEEEE D]DD]

oo 000000mmd 1000@m]0 O
booo D[Dla, noo A|B|C|D|E|F |G| H|00000000pgO
4R-01S1D2| @ 4 Rl 41 |20.5| 11 |47.8|/4 (18 |11.5/ 10 | 7.2| 7.4| 275
6R-01S1D2| @ 6 RV 44.4122.2| 13 |53.8|/4 (19 |13.5] 12 |18.0|19.0] 385
6R-02S1D2| ¢ 6 RV4 44.4122.2| 13 |56.8|6 (22 |13.5| 14 |18.0|19.0] 47.5
8R-01S1D2|¢@ 8 RV 50.2(25.1] 15 |59.914 |20 |15.5| 14 |25.5|27.0] 56.5
8R-02S1D2| @ 8 RV4 50.2(25.1] 15 |62.9]6 |23 |15.5| 14 |25.5|27.0] 60.5
8R-03S1D2| @ 8 R% 50.2|25.1] 15 |63.9]6.4 |24 |15.5| 17 |25.5|27.0] 68.0
10R-02S1D2| @ 10 RV, 54.2|27.1| 17 |72.1]6 |24.5|18.5| 17 |43.0|45.0| 87.5
10R-03S1D2| @ 10 R% 54.2|27.1 17 |73.1] 6.4 |25.5|18.5| 17 |43.0|45.0| 92.0
12R-03S1D2| @ 12 RY 59.2|29.6| 20 |79.1] 6.4 |26.5/20.5| 19 |55.0|60.0|116.0
12R-04S1D2| @ 12 RV, 59.2/29.6| 20 |83.1]8 [30.5/20.5| 21 |55.0|60.0]129.5

eJ0000DO0O0O0O0O0DODDOOOOOODODDOOOOODDDOD

oooo DFDE’ ooo 000000mmd 1000@m]0 O

0o A|B|C|D|E|F |G| H|00000000pgO
4R-01D3 |¢@ 4 Rlg 41 120.5) 11 |47.8|4 [18 [11.5] 10 | 7.2| 7.5] 295
6R-01D3 |@ 6 RV 44.4122.2| 13 |53.8]/4 (19 |13.5] 12 |18.5|19.0] 42.0
6R-02D3 |@ 6 RV, 44.4122.2| 13 |56.8|6 (22 |13.5| 14 |18.5]19.0] 48.0
8R-01D3 |@ 8 RV 50.2(25.1] 15 |59.914 |20 |15.5| 14 |25.5|27.0] 61.5
8R-02D3 |@ 8 RV4 50.2|25.1] 15 |62.9]6 |23 |15.5| 14 |25.5|27.0] 65.5
8R-03D3 |@ 8 R% 50.2|25.1] 15 |63.9]6.4 |24 |15.5| 17 |25.5|27.0| 735
10R-02D3 | ¢ 10 RV, 54.2|27.1| 17 |72.1]6 |24.5|18.5| 17 |41.0|43.0] 935
10R-03D3 | @ 10 RY 54.2|27.1| 17 |73.1] 6.4 |25.5|18.5| 17 |41.0|43.0| 98.0
12R-03D3 | @ 12 RY 59.2|29.6| 20 |79.1] 6.4 |26.5/20.5| 19 |55.0|60.0|122.0
12R-04D3 | @ 12 RV, 59.2/29.6| 20 |83.1]8 [30.5/20.5 21 |55.0|60.0]135.5

ej0000DO00O0O0ODODDOOOOOODODDOOOOODDDDO

285

ooooo
ooo




v JOOoogogog

24
VA0S
24
VAOT 0000RP 000000mmd
23 0000 | 0OO0O - S c 5 ——{0me0
VAT 0000 MO00O0000D00C3604BD ) prew— 1 2 3 0 3 05
33/34 D RP-6 6mm0 6 33 3 36 10 1.0
B C RP-8 8mmO 8 33 3 36 12 2.0
MPV3 ; RP-10 10mmO 10 37 3 40 14 25
] RP-12 12mm0 12 40 3 43 16 4.0
o] F——- o€
MPV4 — | |
oo
oo 000000 mmd
00D Jooddodcr 0000 | 0oOoo A B ooooooo
00 4CR 4mm0O 4 10 |WOROOBOWOMOO oo
MPS L 6CR 6mmO 6 12 [WORODOBODMOMWOCEO0
MVS R 8CR 8mmO 8 14 |WOROLBE 0000 E 0000
] P’ 10CR 10mmO 10 17 |WOROOBODMO®WOODEO0
12CR 12mmO 12 19 WOROOBODMO®OODEO0

ooo JoodooDoFEcP nooo 0oooooo

ooooo
oo FCP WORODOBONMOMOOE OO

K
5 ‘ 1.5.“‘2 00000000000000000

35

gooooboooodoMM

ogooag
@®oooooooog
04 94
06 96 nysFuk
08 08 /
10 @ 10
_ B
— | | @oooooo 12 912 [
1 o[ty er f
] .
3
4
Joooa
| 0000mmoOd
P3N oooo |22l e F G H| 3|k L M| N|P|Q]|R
il %RC%RC%%7 %JHEI}WDSE)]nD]EkWDB 235| 17 |1850n01x 17042| 34 | 46 | 18 | 16 | 34
P10 %Rc%m%% 8.5%}:1[1}21%7]@1&21581 255| 21 | 215001k 21047| 34 | 46 | 18 | 16 | 34
——— " oum308 |-, ¢ 8 51.9 -
— R R 1 1 X . 0
- st REVA{REVA[ 70110 gy o0 106 23071 D 10 23085 26.5 | 23 | 21.5 Dm0k 23048 40 | 52 | 21| 18 | %
T ommaa0 | e 0 56.6 -
vz | Rc/ZRc/B—qJ12 115?7'4]n[1}26D79]nD1D<26D93 33 | 26 |24 [nO1x26057| 40 | 52 | 21 | 18 | 39

OonO0OOO0O0O0OOD

286



O000O0OooooTe-16

goon

o) (18
0000000000 max

00000oooa

VAO1
24

VA0S
24

VAO!
23

VAQ1
33/34

MPV3

MPV4




VAO1
24

VA0S
24
VAO1
23
VA01
33/34

MPV3

MPV4
oo
ooo

ooo
oo

MPS

MVS
oooo
fooooon
oo

ooa

ooooo
ooo

MINICO O O

M30DO0O0O

M50 000

oooa

00.10 1MPa

00.100.4MPa

050600

ooooooooo

gooooooooa

TN-3.2 TN-4x 2.5
TN-4 TN-6x 4

TP-4x 2.5 TE-4x 2.5
TP-6 TE-6

005000000000000000000000000000000000000
0000000000 000000OD00000D0D

oooao oooo
goodboOooOooOdOo0oOooOO0obObO0o0o0O0booa
mM3DO 00
BCOLNONOBOPOOOUTOBEODOOOODOOOOOOO
mMs0000 00D00O0O0o0O0o0000BC-03-M50G-M5000000O0

M50000 0000mmo
0000000 O0000000000 0000000 0000000000 OOD0N220 19003
M5X0.8 X8 M5X0.8 Xhlg
i
W )
\ %
0.6 0.6 M5X0.8 X7
35[ 125 35,125
Ooog | 0ooooo Ooog | 0ooooo osl[125
00x 00 mmo 00x 00 mmo
N601 0419 | @ 4x ¢ 25 N601 0419U| @ 4x @ 25 |
N601 0619 @6x @4 N601  0619U @ 6x @4
00000000 0INGI8 1919 0000000000N6I9 1919 00000001BC-03-M5
D@3.2x ¢2200000000000
M5X0.8 X487 M5X0.8
M5X0.8
#15
@ $24— t $2.6
! 8! 05| 3]s
hijiala 12 L2, o
P3N
Jopn| | OOODONess 1910 0ODO0IN621 1919 000000G-M5
HP10 o X058 M5x08 0606 %417
afafal % ) o |
= ! 35 35 1571 ]
100000 ot 10 e les
11.5:

288



M3DDDD O0o0o00mmO
00000000BC-03-M3 0000000000UT-M3 0000 0N-M3
De32x ¢2200000000000 5 M3X05 45
M3X0.5 " '1 - 2-M3X0.5
- _ ¢15‘ = 7‘ 4 ,
@ 5 §=§i§§ 5 s @ 54 [ 7 1.5
¥ T 025 3
H ws| || 5 g oz [a5] o5l J2] lozs
; " J lﬂ-z\ M3X0.5 313
! 8
L0 ]
00000000BC-04-M3 000 00LN-M3 00000B-M3
Ded4x 9300000000000
M3X0.5 M3X0.5 M3X0.5 M3X0.5 M5X0.8

ot #15,
@ s GEET T s
e ——

L“;il ’0.25 J’U_ 6

=

B8 6
00000000BN-03 000000PI-M3 . 0000P-M3
Dg32x 2200000000000 1N VER
M3X 2
2M3X05 T M3X0.5
$1.5 are i i i
SESTESE 2.6 935 5
;;: @v |
I (] 4.5 15]] Jozs
> 9 3] 7 N\wmsx075 750
— 10
000000000BI-03 000000TM-M3 000000G-M3
D@32x ¢2200000000000
3 2-¢33  9-M3IX05 Re(PT) }6
#15 R ‘“r g
T MY
$2.6 $5 z (# </‘% j
=] @ |
L 10_]_7 71 7] L—! oz
1 Les 3 $4.1

00000000000 00BE-03-M3
D@32x 2200000000000
5

T
7

4125 I+ ,-6
3 o |

25
M3X05/!°% | 5

0000000BT-03
Ne32x 2200000000000

0000 0ODN-03
po00o0ooooooo

0oM30OODO0O0000ODO
ooOoooooooa

000000o0@Wooooo
oood
00 0060 69740 0028
0 0 0030 32540 2828

289

VAO1
24

VA0S
24

VAO1
23

VAQ1
33/34

MPV3

MPV4




VAO1
24

VA5
24

VAO1
23

VA01
33/34

MPV3

MPV4

oooo
oo

MINICO O O

A\ oo
gooooogooiooooooooooo

-0000000D000DOO0O0OOO0OOOOTC-160000D0
0oo00o0o0000O00o0o0oo0ooo0oon
-00000000000OO0ODOOO0
-0000000000000000C00O0O0O0O000
000000000 000O0000O0000O00OO0

goooooooogopoobooooooo

0000000000000 OOoOoOoOooTC-1600000
goobooOoobO0ooOOooOoOooOOooOooOnoa
-0000000000000000C000O0O0000

290





